—
[+})
=
o)
¥ ©
= . O
o o
a S =
| | =2 =
L @
L P A
i med| O S
i & b o L
V EL| 2 ©
H o =
— o
" & =~
| -
5 HER| = o
s [ E E £
2= ¢ Z
2= 3 2
L
@] S s
m=_f o 2
e | £ =
i 5 m
5 ge)
MA| 5 §
1) o
=) | o E
i A
o £
le o
o &
® O
m X
H N

ing

Warn







TO OUR VALUED CUSTOMERS

Thank you for your purchase of the Beast Busters Second Nightmare cabinet.

This user's manual is targeted at users, technicians, and operators of this product. Various methods for placing,
operating, maintaining, testing, and moving this product are explained herein. These procedures listed should only be
performed by those who have carefully read and understood this manual.

Finally, keep this manual where it can easily be found for reference during routine operation, etc.

Those who replace parts, carry out maintenance and testing, and handle malfunctions should be limited to maintenance
staff and technicians.

[In-store Maintenance]

In-store maintenance staff refers to those who have experience in handling amusement
machines, and under the supervision of the amusement machines’ owner or operator are
engaged in the daily upkeep of machines, including installation, maintenance checks, and
replacement of units and disposable parts. !

[Technicians]
Technicians refer to those who are involved in the designing, manufacture, checking, and i
maintenance at an amusement machine manufacturer and alse have advanced training or |
equivalent experience in the daily upkeep and repair of amusement machines.




Precautions for safe operation 3

The procedures listed herein must be carefully followed to ensure both safe operation and to prevent personal
injury and property damage. Use the product only after sufficiently understanding the procedures listed.

m Signal Icons

Danger Warning

Ignoring these warnings and mishandling | Ignoring these warnings and mishandling
of the cabinet may result in death orserious | of the cabinet may result in injury or
injury. property damage.

_/

Moving, Shipping

.Danger ;

. Before moving the cabinet, unplug the power cord. This is necessary to avoid accidents and
damage to the cabinet.

» Do not damage the power cord and ground cable when moving the cabinet. This may cause ac-
cidents involving fire and electric shock as well as damage to the cabinet.

« To prevent accidents when moving and shipping the cabinet, be sure to do so with an appropriate
number of people to safely handle the cabinet and be very careful of surrounding conditions.

« When moving the cabinet, be careful for safety around you and create a path sufficient to move
the cabinet.

« Do not damage the wiring. Doing so may cause fires and electric shock. i

Warning

« Do not move the cabinet with the adjusters lowered. It may cause injury and accidents.

« Do not touch areas other than those indicated. This may cause accidents and personal injury.

» When moving the cabinet, support it by grabbing the handles at the side of the cabinet. Especially
when moving or carrying the cabinet over graded surfaces, be sure to lift the cabinet by the handles.
This is necessary to prevent accidents and personal injury.

® Installation

« Install the cabinet following the explanations and procedures in this manual. Failing to do so may
create the danger of electric shock and personal injury.

« Be sure to connect the ground cord. If the cabinet is not properly grounded, it may cause an
electric shock in the event of a short circuit.

2
1‘
- ‘
T T e T B e T . N | 5 b - R et




» This cabinet is for indoor-use only. Under no circumstances should it be placed outdoors or in
the locations listed below. So doing may cause damage to the cabinet and accidents.
— Indoor pools, areas near a shower, and other locations where humidity is high.

— In areas that are excessively hot, like next to a heater. In areas around dangerous materials.
— Near ventilators and areas of severe temperature extremes.

— On inclines, areas subject to severe jolts, and other unstable locations.

—In areas exposed to direct sunlight.

— In places that are excessively dusty.

— In areas prone to leaking and flooding.

— Near fire fighting facilities and emergency exits.

+ Do not block the ventilation openings in the rear of the cabinet. Doing so will increase the internal
temperature of the cabinet and may cause fire and damage to the cabinet.

» Do not place containers with liquids (drinks, etc.) or small metal objects on the machine. Should
liquids or conductive materials fall into the machine, it may result in fire and electric shock.

» Be sure to use an outlet rated at AC220V - 240V and insert the plug into a specialized outlet. If
other high-capacity products (air conditioners and large-size cabinets, etc.) are used on the same
power line, this may result in accidents such involving fire and electric shock as well as damage
to the cabinet.

» Do not damage, modify, or place heavy objects on the cord. Also, do not place the cord near
heated objects. Doing so may break the cord and cause fire and electric shock.

A

I Warning

+ When installing the cabinet, be sure to adjust the nine adjusters on the bottom of the cabinet to

. : bring it level. Failing to do so may cause accidents and perscnal injury should the cabinet tip
over or fall. Also it may cause the coin selection function to malfunction.

* Do not place the power cord in areas where people can step on or kick it. Doing so may cause
accidents and personal injury.

» Place the cabinet where room temperature is between 5°C and 35°C. If the temperature exceeds

i orfalls below the recommended temperature range, this may damage the cabinet.
*» Be careful when handling glass parts. Failing to do so may cause accidents and injury.

* Absolutely do not climb onto the cabinet to attach parts. Doing so may result in accidents and

injury.

I _ Operation

{  Before Operation

A

Danger

+ Be careful to see that the “Warning” and “Caution” stickers affixed to the cabinet are placed
where they can be read, are sufficiently illuminated, and free of dirt, etc. Also, make sure they are
not hidden by other cabinets, etc.

+ If labels are considerably dirty, torn, etc., replace them with new labels. (To request new labels,
contact SNK or any authorized dealer.)

I 4 Do not unplug the cabinet if your hands are wet. This may cause accidents such as electric shock.
4+ Do not damage, modify, or place heavy or hot objects on or near the power cord. If the cord is
damaged, this may cause accidents involving fire and electric shock.
/ » If the power cord is damaged (the wires are exposed, cut, etc.), contact the SNK Corporation or
any authorized dealer for replacement. Failing to replace the cord may cause fire, electric shock,
1 and short circuits.




« Check the stability of the cabinet (the cabinet is stabilized with the adjusters) in the installatigy
area. There may be a danger of accidents from the cabinet tipping over or moving. :

Warning

« Place the cabinet where it can be operated safely. This is necessary to avoid accidents and person
injury.

« Be careful when handling glass parts. This is necessary to prevent accidents and injuries.

« When unused for long periods, turn the cabinet off and unplug it for safety.

Operation

® During Operation

A

Danger

« Should any of the following occur, immediately turn the power switch off and unplug the cabinet.
Continued use in any of these circumstances may result in accidents such as fire and electric
shock.

— When the cabinet breaks down.
— When water or foreign matter enters the cabinet.
— When the cabinet is damaged.
— When smoke, unusual odors, or strange noises emanate from the cablnet
« Do not let anyone climb or lean on the cabinet. This may result in accidents and injuries.
« To avoid accidents, stop customers from performing any of the actions that are forbidden by the

warning stickers affixed to the cabinet.

Warning

« Do not insert fingers or foreign objects into the cabinet’s openings and cracks. This may cause
accidents and personal injury.

» Stop customers from placing packages and drinks on the cabinet. This is necessary to avoid
damage to the cabinet and accidents from falling objects.

« Immediately stop violent behavior, such as hitting or kicking the cabinet. This is necessary to
prevent accidents and breakdowns.

Maintenance

+ When performing maintenance on the cabinet, be sure to do so after the power is turned off.
Doing so when the power is not turned off may result in electric shock. !

» Absolutely do not try to copy or modify this cabinet. Doing so may cause fire and electric shock. |

» Do not use parts in this cabinet other than those specified by the SNK Corporation. Doing so may |
cause accidents and breakdowns.

» Make sure all connectors in the cabinet are connected tightly. Loose and partial or incorrect con-
nections may cause accidents such as fire and electric shock.

4




Warning

« Do not apply volatile liquid cleaners like benzene, alcohol, thinner, and insecticides to the cabinet.
This may cause paint and stickers to peel and ruin the luster of the cabinet’s finish.

Disposal

Warning

* When disposing of this cabinet, make sure you do so according to the laws of your area concerning
collection, shipping, and disposal.

« When disposing of this cabinet through the agency of another, be sure to do this through an
agency qualified in the collection, shipping, and disposal of products of this kind.




“WARNING”, “CAUTION” LABEL STICKERS/

SPECIFICATION DISPLAY PLATES

B WARNING Label Stickers

In this cabinet, places that are designated as dangerous are labelled with stickers affixed to the cabinet to warn others
of possible danger.

These stickers are for warning maintenance and service technicians to aveid danger, and to protect customers against
accidents.

W-1D
1 (Warning seal, No. 1 side, small)

F A Warning

Danger of electric shock.
dm Turn the cabinet off and unplug the cord

L/

before working.

‘ ‘ W-1D
S

C-3
@ (Caution seal, No. 3) et
( A caution |

Avoid strong jolts to glass areas.
Breaking the glass may cause injury
‘ and damage to the cabinet.

C-3

W-2B wW-13
{Warnmg seal, No 2 side, small) (Warning seal, No. 13)
/_"'—"_\

[ AWammg | AWarning |

Stabilizing hook
for moving and
. shipping. Do not

use it to hang
things from. Doing

Do not ooen this cover unless so may damage
YOU &8 3 SEVICE persan of the cabinet and
‘ technician Because there a6 cause accidents.

high-vollage parts insige,
louchmng these s extramaly ||
dangerous.

wes)) e Wiey

E Specification Display

A serial number plate and electrical specifications plate are affixed to the cabinet. When inquiring about repair reguests,
etc., after checking the displayed serial number and product name, contact the institution listed on the back cover of
this user's manual.




| m “WARNING”/“CAUTION” Label Sticker and
{1 Specification Display Plate Locations




TO OUR CUSTOMERS . - vos sissav sinnin sviaie viats sislins samas 1

SAFETY PRECAUTIONS ........cccocvanssansnrosanrssnsns 2
“WARNING”, “CAUTION” LABEL STICKERS/ |

SPECIFICATION DISPLAY PLATES . .....cciviiviiannnrins 6
1181 28 S e b oo O e o o, e Pl A e e oy oy il 8
SPECIEICATIONS! vac coiemne siammiaze mince sajeinra simminis womis niniminia sommaie 9
PACKING CHECK ... ivvss smminn sniasavosanass sasssans nan 10
PARTINANMES | ciiicais sdivais bisialion bnlansia i haynini ssesminia w7t sioge 11
SWITCH, TERMINAL LOCATIONS ...........cviiiinnnn.. 13
MOVING, SHIPPING ... .o cvciciis sawai vons vinins i <o 15
INSTAEEATIOND. (5L o i vl et i S ie oo wnee. esate 16
OPERATION v iv:5 20 Sk siate siarallniaheis o ldate oaiise a7 fo-wn) a=ersl aats 21
MAINTENANGE o wo s coi tileilie sicie vi w/ata, vonhlints o0 Latn mlkse ainls 40
DNSBOBAL o 5o s i e e atatare et s iare Vo va sieim Wiats 49
PARTS NS . o o el o e o, o el b ol e 50
WIRING DIAGRAMS ..........c.ciiinennianannann End Insert




Power supply:
Power consumption:

Jimensions;

|

lotal weight:

fuse standarg:
Jperation condition:

Specifications

udel Number: Monitor section, BB2-SM: Control section, BB2-SC-K

AC220 -240V (50/60Hz)

240W

750 mm (W)} % 1,308 mm (D} x 1,968 mm (H).......... Completely assembled
720 mm (W) x 776 mm (D) x 1,968 mm AR Gl S L Monitor section

750 mm (W) x 671 mm (D) x 1,297 mm (Hy........ Control section

183 kg (Monitor section: 117 kg: Control section: 78 kg)
BA (anti-surge type)
Indoor use only

Ware tnat the iterms listed herein are subject to change without prior notice for praduct improvement.




~ Packing Check ] I

The cabinet is packed in the method below:

Number of packages:
Package contents:

B Accessories

Accessories are placed in the locations listed below. Remove these and check to see all the parts listed below are

included in the packing.

2 boxes
BEAST BUSTERS SECOND NIGHTMARE, monitor section
BEAST BUSTERS SECOND NIGHTMARE, control section

*Because they will be needed again when moving the cabinet, be sure to save all packing materials such as the cardboard boxes, etc.

0

\

Accessory
set
No.1to7

section

No. Part Name Part Code | Qty. Notes
1 User's manual 1
2 Master keys 4315533 2
3 | Cash box keys 43233 2
4 Monitor adjustment screwdriver =
5 M5 x 40 truss screws 81530540 4
6 M5 flat fixtures 8513050 4 56x 16 x1.61
7 2.5 mm hexagonal wrench 881003 1
8 Fluorescent light bulb, 20W 301204 1
Control

Fluorescent
light, 20W

section

e o




29-inch monitor

Rear
door

&

Gun assembly
JE

(Player 2 gun)

o
/‘
Sy
11~
|
,ﬂr.‘r
|
)
el
el |

47

===

Rope hook

Rear power

unit

N
Q
£
[4+]
=
gt
S
1]
o

e
o
e
m. >
G 85
iy E o

L~

3 o

>

E m

5 U

a




mbly diagram

m Gun asse




Switch Terminal Locations

B Control section
The switches and terminals listed below are located behind the service door.
i) @ Volume (Cabinet)

(3 ?) | Adjusts the volume for the cabinet speaker.

| @ Volume (Gun)

PR,
{2) \r
| Adjusts the volume for the speaker in the upper
@ é é) T gun section.,

@ Degaussing switch

i -.-'cgumE 'r'%LL‘ME DEGAUSS N ‘ Used to clear static electricity build-up from the
[ | [(CARINETY  (GUN) —
PONER — {9 L dpomiel. -
| || service SERVICE L N @ Service switch (Player 1)
i 1P tes] OFF

A service credit switch for the player 1 side

. ® Service switch (Player 2)
| A service credit switch for the player 2 side.

I I |[ ‘ ® Test switch
f—|\ ,L a1 ‘ Switch to enter Test Mode.
& ‘\\i/' (E/) | @ Front power switch

B Monitor section
The switches and terminals listed below are located in the rear power unit section.
r | @ Fuse holder
- TN ‘ Holds the fuse (6 ampere, anti-surge type).
‘ \ @ Ground terminal
Connects the ground cable.
@ Rear power switch.

*If the front power switch and the rear power switch are not both switched on, the cabinet will not operate.




m Control section
The coin counter is located inside the cash box door.

Coin counter

TR




|

|

Moving, Shipping

‘B Safety Precautions

I

A

Danger

Before moving the cabinet, unplug the power cord. This is necessary to avoid
accidents and damage to the cabinet.

Do not damage the power cord and ground cable when moving the cabinet.
This may cause accidents involving fire and electric shock as well as damage
to the cabinet.

To prevent accidents when moving and shipping the cabinet, be sure to do so
with an appropriate number of people to safely handle the cabinet and be very
careful of surrounding conditions.

When moving the cabinet, be careful for safety around you and create a path
sufficient to move the cabinet,

Do not damage the wiring. Doing so may cause fires and electric shock.

Do not use the rope hook in back of the cabinet to hook up and lift it. Doing
SO may cause accidents and personal injury.

Warning

Do not move the cabinet with the adjusters lowered. It may cause injury and
accidents. ;

Do not touch areas other than those indicated. This may cause accidents and
personal injury.,

When moving the cabinet, support it by grabbing the handles at the side of the
cabinet. Especially when moving or carrying the cabinet over graded surfaces,

and personal injury.

Be careful when handling glass parts. Failing to do so may cause accidents
and injury.

When the cabinet is tilted, do not support the glass sides. Doing so may cause
accidents and personal injury.

When moving and shipping the cabinet, avoid severe jolts to the cabinet. This
may cause breakage and damage to the cabinet.

When moving this cabinet, do not hold it by the gun assembly. In so doing,
there is the danger of damage to the gun assembly and the attached sections.
When shipping the cabinet, secure the gun assembly with the packing materials.
Failing to do so may physically damage the cabinet and cause breakdowns.
When transporting the cabinet on top of vehicles, use the rope hook on the
cabinets upper rear section and secure tightly.

J




Installation £

Th

m Safety Precautions

(_

Danger

« Install the cabinet following the explanations and procedures in this manual.
Failing to do so may create the danger of electric shock and personal injury.

» Be sure to connect the ground cord. If the cabinet is not properly grounded, it
may cause an electric shock in the event of a short circuit.

e This cabinet is for indoor-use only. Under no circumstances should it be placed
outdoors or in the locations listed below. So doing may cause damage to the
cabinet and accidents.

— Indoor pocls, areas near a shower, and other locations where humidity is high.

—In areas exposed to direct sunlight.

— In areas that are excessively hot, like next to a heater. In areas around dangerous
materials.

—In places that are excessively dusty.

—In areas prone to leaking and flooding.

— Near ventilators and areas of severe temperature extremes.

— On inclines, areas subject to severe jolts, and other unstable locations.

— Near fire fighting facilities and emergency exits.

» Do not block the ventilation openings in the rear of the cabinet. Doing so will
increase the internal temperature of the cabinet and may cause fire and damage
to the cabinet.

» Do not place containers with liquids (drinks, etc.) or small metal objects on the
machine. Should liquids or conductive materials fall into the machine, it may
result in fire and electric shock.

o Be sure to use an outlet rated at AC220V - 240V and insert the plug into a
specialized outlet. If other high-capacity products (air conditioners and large-
size cabinets, etc.) are used on the same power line, this may result in accidents
such involving fire and electric shock as well as damage to the cabinet.

» Do not damage, modify, or place heavy objects on the cord. Also, do not place
the cord near heated objects. Doing so may break the cord and cause fire and
electric shock.

\

A

Warning

* When installing the cabinet, be sure to adjust the nine adjusters on the bottom
of the cabinet to bring it level. Failing to do so may cause accidents and personal
injury should the cabinet tip over or fall. Also it may cause the coin selection
function to malfunction.

« Do not place the power cord in areas where people can step on or kick it. Doing
so may cause accidents and personal injury.

« Place the cabinet where room temperature is between 5*C and 35*C. If the
temperature exceeds or falls below the recommended temperature range, this
may damage the cabinet.

+ Be careful when handling glass parts. Failing to do so may cause accidents
and injury,.

« Absolutely do not climb onto the cabinet to attach parts. Doing so may result
in accidents and injury.




B Installation Conditions

o The area necessary to operate and maintain the cabinet is listed below.

H « 185 cm (W) x 280 cm (D)
4 * The height of the ceiling should be more than 2 meters,

1 m 85 cm or more

Scm Shem
0 morg o mofE

Hem
0r mare

2 m 80 cm or more

Aisle




B Preparing for Installation

Use a step ladder for installation. Failing to do so may cause accidents and personal
injury.

Warning

Before beginning installation procedures, prepare the items listed below.

e Accessories................... 2 master keys, 4 M5 x 50 small truss-head screws, 4 M5, flat-head screws,
a 20W fluorescent light tube.
B <o ] L R o) Phillips screwdriver, monkey wrench

B Installation Procedures

@ Attaching the Lamp Box

Lamp box

Fluorescent light fixture
20W fluorescent light tube

M4 x 30 small
truss-head screws

1. Insert the 20W fluorescent light tube into the fluorescant light holder.

2. Remove the two M4 x 30 small truss-head screws and then remove the lamp box from the rear of the monitor
section as shown in the diagram.

3. Attach the lamp box 1o the front section of the monitor section shown in the diagram above with the two M4 x 20
small truss-head screws, previously removed to detach the lamp box.




® Connecting the Control Section and Monitor Section

Master key

M5
flat-head
fixture

M5 x 40 small

- Connectthe monitor and control sections together.
- As shown in the diagram, use the four M5 flat-head

fixtures and M5 x 40 small truss-head screws to
secure the monitor section to the control section.

(There are two attachment holes on the right and
left sides.)

. Use the master keys to open the side door.
. Connect all three connectors inside the side door,
. Shut the side door.

truss-head screw

-19-




® Placing the Cabinet I
Lower the nine adjusters at the bottom of the cabinet to the surface. When they are set on the surface, use a monkey
wrench to adjust the height of each adjuster and bring the cabinet level (the casters should be about 5 mm off the l
ground.) When adjustments are completed, tighten the nut and make sure it is secured.
€
T
/
Cabinet
{ 7F | Caster
- O
Adjuster Approx. 5 mm [
,_E P Lower
Placement surface
\
« Make sure the screws are screwed in tightly. If the screws are loose, this may
damage sections and cause accidents.
» Be sure to prepare a suitable place where the cabinet can be safely installed and
Warning assembled. Failing to do so may cause accidents and personal injury.
€
(

—




Operation

B Safety Precautions for Operating the Cabinet

® Before Operation
| To prevent accidents, check the following points before operating the cabinet.

:

A

Danger

Be careful to see that the “Warning” and “Caution” stickers affixed to the cabinet
are placed where they can be read, are sufficiently illuminated, and free of dirt,
etc. Also, make sure they are not hidden by other cabinets, etc.

If labels are considerably dirty, torn, etc., replace them with new labels. (To
request new labels, contact SNK or any authorized dealer.)

Do not unplug the cabinet if your hands are wet. This may cause accidents
such as electric shock.

Do not damage, modify, or place heavy or hot objects on or near the power
cord. If the cord is damaged, this may cause accidents involving fire and electric
shock.

If the power cord is damaged (the wires are exposed, cut, etc.), contact the SNK
Corporation or any authorized dealer for replacement. Failing to replace the
cord may cause fire, electric shock, and short circuits.

Check the stability of the cabinet (the cabinet is stabilized with the adjusters)
in the installation area. There may be a danger of accidents from the cabinet
tipping over or moving.

A\

Warning

Place the cabinet where it can be operated safely. This is necessary to avoid
accidents and personal injury.

Be careful when handling glass parts. This is necessary to prevent accidents
and injuries.

When unused for long periods, turn the cabinet off and unplug it for safety.

4% During Operation

(

A\

Should any of the following occur, immediately turn the power switch off and
unplug the cabinet. Continued use in any of these circumstances may result
in accidents such as fire and electric shock.

— When the cabinet breaks down.

— When the cabinet is damaged.

— When water or foreign matter enters the cabinet.

— When smoke, unusual odors, or strange noises emanate from the cabinet,

fi L Panger | o Do not let anyone climb or lean on the cabinet. This may result in accidents
and injuries.
» To avoid accidents, stop customers from performing any of the actions that
P are forbidden by the warning stickers affixed to the cabinet.
« Do not insert fingers or foreign objects into the cabinet's openings and cracks.
This may cause accidents and personal injury.
» Stop customers from placing packages and drinks on the cabinet, This is neces-
sary to avoid damage to the cabinet and accidents from falling objects.
Warning | ¢ Immediately stop violent behavior, such as hitting or kicking the cabinet. This

is necessary to prevent accidents and breakdowns.




m Turning the Cabinet on and Operation Checks

@ Before turning the cabinet on
¢« Use a separate outlet for the cabinet.
s Use a single-phase, 220V to 240V AC indoor outlet with 7 amperes or more.
* The maximum current should total 3 amperes (AC220 to 240V).
+ When using an extension cord with this cabinet, use a cord that is rated at 12 amperes or more.

® Turning the Cabinet on

1. Check to see that both power switches inside the service door and the rear power source section are switched off.
2. Plug the AC cord into the outlet.

3. Attach a ground cable.

4, Turn the power switches inside the service door and in the rear power source section on.

+ Be sure to attach a ground cable.
It a ground cable is not attached, there may be danger of electric shock if there is a short circuit.

Danger

« If the power switches in the two locations are not both switched on, the cabinet

: will not operate.
Warning

® Operation Checks

1. The fluorescent light and coin insert slot lamp lights up. A

2. After turning on the cabinet, the RAM TEST begins automatically. If all items show the "OK” message, the next 1
screen will appear.

3. After the cross-hatch screen is displayed for a few seconds, the game screen will appear.




® Test Mode
Press the Test button inside the service door to begin the Test Mode. .
When the Test Mode begins, the menu screen shown below will appear. Select the necessary item and make settings

and adjustments as needed. The contents of settings and adjustments are shown below.

MAIN MENU

—  MEMORY TEST
MONITOR TEST
1/0 TEST
SOUND TEST
COIN DATA
GAME OPTIONS
SYSTEM OPTIONS
EXIT

CURSOR NEXT :BOMB
ENTER :TRIGGER

SNK © SNK CORPORATION 1998

[Contents]

« MEMORY TEST Checks the read/write functions of RAM devices.
* MONITOR TEST A screen display for adjusting the monitor.

e /O TEST Checks the various input and output devices.
« SOUND TEST Test of audio output devices.
« COIN DATA Calculates coin and play totals/data.

* GAME OPTIONS Sets game difficulty, etc.
* SYSTEM OPTIONS Sets cabinet settings.

[Basic Operation Descriptions]
The operations listed below are fundamentally done using the Player 1 gun only.

1.1n the lower left of each screen, an operations description is displayed. Follow this display to change the setting
values.
CURSOR NEXT: Each time the BOMB switch is pressed, the cursor will move to the next item.
ENTER: Pull the trigger to call up the setting item menu to which the cursor has been matched.
CHANGE: Pull the trigger or push the Start switch to change setting items.,

2. Select EXIT in each seftingitern and pull the trigger to return to the previous screen.

3. Select EXIT on the MAIN MENU screen and pull the trigger to end the Test Mode and reactivate the game.




m 1 MEMORY TEST &

MEMORY - TEST

— SCROLL RAM 0K
PALETTE RAM 0K
SPRITE RAM 0K
3D BANK A RAM 0K
3D BANK B RAM 0K

EXIT  :TRIGGER
SNK © SNK CORPORATION 1998
[F
Tl
E
: SC
[Procedures]

m Automatically searches the memory and if there is ncthing wrong, an “OK* message appears. If something is wrong,

the “NG" message will appear. 2

B When the “NG" message appears, quickly turn the cabinet off and contact the SNK service center.

« Pull the trigger to return to the “MAIN MENU.”




m 2 MONITOR TEST

MONITOR TEST
— COLOR BAR

CROSS HATCH

MONITOR CHECK

WHITE SCREEN

EXIT
CURSOR NEXT :BOMB
ENTER :TRIGGER

SNK © SNK CORPORATION 1998

[Function]

The test pattern for monitor adjustment is displayed. Four types of screens are displayed: a color bar for color adjustment

and correction, a cross-hatch display for correcting image size and distortion, a screen for monitor checks, and a white
screen. 4

l
2.1 COLOR BAR

COLOR BAR

EXIT : TRIGGER

SNK @SNK CORPORATION 1998

*Pull the trigger to return to the “MONITOR TEST" menu screen.




2. 2 CROSS HATCH

N [ R R R B
R R g
AANAEEEEERRTan
el ek b e elals|
L P Ea e p b
e N Rl e |
AERAENSEARAE AT
2 R R ) AN A S R I A T
EEREEDDANER RS
IEARARZAENEAEEHEAT
e e pr e b R b o b
HAEZAEENARREAN
el [d e lae il B oyl |2
BEdpEERE e
E/EEEEEER Db
/F EEEEE R RN

e Pull the trigger to return to the “MONITOR TEST" menu screen.




| 2.3 MONITOR CHECK

Iz

EMOSRWG
EMOSRWG

EMOSRWG

EMOSRWG
EMOSAWG

Based on the sample image, color divergences, rasters, display scales, brightness, contrast, possible sizes for stabilized
displays, and image centers are checked.

1+ Full the trigger to return to the “MONITOR TEST" menu screen,

12. 4 WHITE SCREEN

* Pull the trigger to return to the “MONITOR TEST” menu screen.




m 3 1/0 TEST

1/0 TEST

— INPUT TEST
QUTPUT TEST
ANALOG DEVICE ADJUST
EXIT

CURSOR DOWN  :BOMB
ENTER : TRIGGER

SNK © SNK CORPORATION 1998

[Function]
Checks input and output devices, and allows adjustment of guns.

3.1 INPUT TEST

[Check Contents]

m Checks analog input of GUN H and GUN V.

H Each input test is displayed successively on the screen.
m The "PLAYER 3" column is not used in this cabinet.

NONITOR TEST
PLAYER 1 PLAYER2 PLAYER 3
GNE FEFE - B B
GINV 00 00 00 00 00 00
TRIGGER 0 0 0
PUMP 0 0 0
BOMB 0 0 0
COIN 0 0 0
SERVICE 0 0 0
START 0 0 0
TEST 0 0 0
. PRESS THE PLAYER 1 BOMB BUTTON
AND THE PLAYER 1 TRIGGER TO EXIT
SNK © SNK CORPORATION 1998

s Pull the trigger while pushing down on the bomb switch to return to the 1/O Test Menu screen.




3.2 OUTPUT TEST

[Check Contents]

B Tests gun vibration and illumination of the Start lamp,

B All operations are done with the Player 1 gun.

® “GUN #3" and "START LAMP #3" setling items are not used in this cabinet.

OUTPUT TEST
— GWN #1 OFF }
GUN #2 OFF |
GUN #3  OFF I
START LAMP #1  OFF
START LAWP #2  OFF ‘
START LAMP #3  OFF
EXIT
CURSOR NEXT :BOMB
ENTER :TRIGGER
L SNK © SNK CORPORATION 1998
3.3 ANALOG DEVICE ADJUST
[Contents]
Sets the analog standard values for guns,
[Setting Procedure]

I 1. Move the Player 1 gun as far to the upper left as possible and pull the trigger in that position,

| 2, Move the Player 1 gun as far to the lower right as possible and pull the trigger in that position.
3. Move the Player 2 gun as far to the upper left as possible and pull the trigger in that position.
4. Move the Player 2 gun as far to the lower right as possible and pull the trigger in that position.

GUN SIGHT ADJUST

(GUN #1 LEFT ToOP)

CURSOR MOVE :GUN #1
ENTER :TRIGGER




m 4 SOUND TEST

SOUND TEST
— BGM
SE
LEFT SPEAKER
CENTER SPEAKER
RIGHT SPEAKER
GUN #1 SPEAKER
GUN #2 SPEAKER
GUN #3 SPEAKER
EXIT
CURSOR NEXT :BOMB
CHANGE + : TRIGGER
CHANGE - :START
SOUND CANCEL :START

AFFTITEE

SNIK © SNK CORPORATION 1998

[Function]
Tests music (BGM) and sound effects (SE).

4.1 BGM (Background Music)
When selected, the BGM will begin to play. (All sounds playing beforehand will be cancelled out.)

BGM will play for 10 seconds only after this item has been selected.
It's possible to cancel the BGM test while music is playing by pushing the Start button.

4. 2 SE (Sound Effects)

When selected, the SE will begin to play (All sounds playing beforehand will be cancelled out.)
These will play for 10 seconds only after this item has been selected.
It's possible to cancel the SE test while sound effects are playing by pushing the Start button.

4. 3 LEFT SPEAKER

Plays sound through the left speaker (facing the front of the machine).
It's possible to cancel the test while the speaker is tested by pushing the Start switch.

4.4 CENTER SPEAKER

Plays sound through the left and right speakers.
It's possible to cancel the test while the speaker is tested by pushing the Start switch.




R

4.5 RIGHT SPEAKER

B Plays sound through the right speaker (facing the front of the machine).
B It's possible to cancel the test while the speaker is tested by pushing the Start switch.

4.6 GUN #1 SPEAKER

B Plays sound through the Player 1 gun’s speaker.
B |t's possible to cancel the test while the speaker is tested by pushing the Start switch.

4.7 GUN #2 SPEAKER

Plays sound through the Player 2 gun's speaker.
It's possible to cancel the test while the speaker is tested by pushing the Start switch.

| 4.8 GUN #3 SPEAKER

Not used in this cabinet.




m 5 COIN DATA

COIN DATA

— DAILY COIN DATA
MONTHLY COIN DATA
STAGE COMPLETION
CONTINUE PLAY TIME TABLE
PLAY DETAILS
EXIT

ON TIME 0000-00:00:00
PLAY TIME 0000-00:00:00
CURSOR NEXT :BOMB
ENTER :TRIGGER

SNK © SNK CORPORATION 1998

[Function]
Displays income total data and play frequency data.

1. The totals for the previous week listed by date
2. The totals for the previous year listed by month
3. Stage completion frequency totals

4. Play time distribution totals

5. Play data details display

« Total operation time (ON TIME) and total play time (PLAY TIME) is displayed in the lower section of the menu
monitor.

[Fu
One

/

[elglrlelalglz]

[F
Or




5.1 DAILY COIN DATA

[Function]
One week of daily totals are displayed.

PLAYER 1 PLAYER 2 PLAYER 3

PLAY | CONT TIME CIN » VG QIN = SRVC COIN = SRvC
0522 FRI 000 000 00:00 0000,~0000 0000,~0000 0000.~0000
05,23 SAT 000 000 00:00 00000000 00000000 0000.70000
05724 SN 000 Q00 0000 000070000 0000,~0000 0000.-0000 |
0525 MON 000 000 00:00 000070000 00000000 00000000 [
05,726 TLE 000 000 00:00 00000000 00000000 000070000 I
05,727 WD 000 000 00:00 00000000 00000000 0000,~0000 ]
05728 THI 000 000 00:00 00000000 00000000 00000000 f

« Pull the trigger to return to the “COIN DATA” menu screen.

9.2 MONTHLY COIN DATA

[Function] ‘
One year of monthly totals are displayed. ‘

PLAYER 1 PLAYER 2 PLAYER 3
PLAY [ CONT | TIME | comn-svc COIN - SRS QIN + SRYG
97712 (¢ 000 000 | m0:0 0000,70000 000070000 000070000
9801 Ji 000 000 | w0 0000,70000 0000,70000 00000000
9.2 FEB 000 000 | oo 0000,70600 00000000 000070000
| 9806 R 000 000 | o 000070000 000070000 000070000
%01 AR 000 000 | om0 000070000 000070000 000070000
M Y 000 000 | ww 000070000 000070000 0000,70000

* Six months of display data are shown simultaneously on a screen.,
* Match the cursor to “NEXT"-and pull the trigger to proceed to the next screen.
-» Match the cursor to “EXIT” and pull the trigger to return to the “COIN DATA” menu screen.




5.3 STAGE COMPLETION : b.

[Function] ‘ [F
One week of stage completion totals data is displayed. Di
W STAGE 1 STAGE 2 STAGE 3 STAGE 4 STAE § ENDING

w2 Rl 0000 0000 0000 0000 0000 0000

05/23 SAT 0000 0000 0000 0000 0000 0000

05/24 SN 0000 0000 0000 0000 0000 0000

05/25 N 0000 0000 0000 0000 0000 0000

05/26 TLE 0000 0000 000 0000 0000 0000

05/27 WD 0000 0000 000 0000 0000 0000 i

05/28 FRI 0000 0000 0000 0000 0000 0000

= Pull the trigger to return to the “COIN DATA” menu screen.

I«
]
[
=
[
]
5. 4 CONTINUE PLAY TIME TABLE
. [Function] .
The past week’s totals data of total play time for one play is displayed. .

0s - 61s — 121s — 181s — 301s - 601s —

60s 120s 180s 300s 600s ENDING
05/22 FRI o 000 0000 0000 0000 0000
05/23 BAT 000 0000 0000 0000 0000 0000
06/24 SN 0000 0000 0000 0000 0000 o0
06/25 MN 0000 0000 0000 0000 0000 0000
05/26 TLE 0000 0000 0000 000 0000 0000
05/27 WD 0000 0000 0000 000 0000 QCo0
05/28 FRI 0000 0000 0000 000 0000 0000

« Pull the trigger to return to the “COIN DATA”" menu screen.




5.5 PLAY DETAILS

[Function]
Displays detailed data for one play.

—

TOTAL PLAY = 006
( PLAY CONTINE
05/23 SAT STAGE FRAVE TINE TINES
[ oot 7 020 01:00 ©
f: [ 1 1566 0045 53
s 1 1450 03:30 [
04 1 0780 02:00 w0
005 1 0166 01:05 o1
006 1 2560 00:55 2

Contents for each select item]

“TOTAL PLAY” displays the total number of plays for one day.

“STAGE" displays the number of stages when the continue display appears during game play.
“FRAME" displays the position in a stage when the continue display appears during game play.
“PLAY TIME" displays the play time for one play.

‘CONTINUE TIMES” displays number of times a player continues game play.

The amounts for 10 plays are simultaneously displayed on a single screen,

+ The number of plays that can be saved in one day is 256 along with the amounts for the past week.

. Press the Start button to call up the previous day's data.

Pull the trigger to return to the “COIN DATA” menu screen.

|
r



m 6 GAME OPTION

GAME OPTIONS
— DIFFICULTY (2) NORMAL.
DEMO SOUND TRACK  (DALL THE TIME
LANGUAGE (1) JAPANESE
VIOLENCE (4)BLOOD GREEN  MEAT ON
INITIALIZE
EXIT
CURSOR NEXT  :BOMB
CHANGE + :TRIGGER
CHANGE - :START
SNK © SNK CORPORATION 1958

[Function]
m Enables the setting of game difficulty levels, etc.
m Allows settings of basic game content.

« Initial settings are displayed by blue characters.

6. 1 DIFFICULTY

QEASY =i Sets game difficulty at easy level of play.

@NORMAL . .......... Sets game difficulty at normal level of play.

@HARD .....oovvinnn Sets game difficulty at difficult level of play.

@HARDEST .......... Sets game difficulty at an extremely difficult level of play.
Initial Setting ....... NORMAL

6. 2 DEMO SOUND TRACK

@ALL THETIME ...... Plays sound all the time during demo play.
@ ONCEEVERY 2..... Plays sound once for every two demo play runs.
@ ONCE EVERY 4 ..... Plays sound once for every four demo play runs.
@BGMOFF .......... Not used.
©®SOUND OFF . ....... Turns all sounds off during demo play.

Initial Setting™....... ALL THE TIME

+ Choosing whether sounds will play or not can be done in “DEMO PLAY TIME" only.




6. 3 LANGUAGE

@ JAPANESE ......... Displays messages in Japanese.
@ENGLISH .......... Displays messages in English.
Initial Setting ... .... ENGLISH

6. 4 VIOLENCE

@ BLOOD GREEN MEATOFF ............. Displays blood in green. :
Does not display gore. |

@ BLOOD GREEN MEATON . ........... . .Displays blood in green. -
Displays gore.

@BLOOD REDMEAT OFF .. ..., Displays blood in red.
Does not display gere.

@BLOODREDMEATON ..........ovv .. Displays blood in red.

Displays gore. : ':

Initial Sefting ... ........coovvuinunna BLOOD GREEN MEAT ON

6. 5 INITIALIZE I

[Function]
Sets all item data set with the “GAME OPTIONS’ menu to their initial settings.

. * Match the cursor to the “INITIALIZE" item on the menu screen and pull the trigger to return all items setting
values at their initial values.

B 7 SYSTEM OPTION

SYSTEH OPTIONS |
— COIN/CREDIT SETTING :
CALENDER SETTING [Function]
DATA INITIALIZE Sets system information.

@ Sets coin shooter and credit settings
@ Sets Calendar settings

@ Initializes High Score and Income Data
settings.

EXIT f
I
\

. CURSOR NEXT :BOMB
ENTER -TRIGGER

SNK © SNK CORPORATION 1998




7.1 COIN/CREDIT SETTING

COIN/CREDIT SETTING

— CREDIT DISPLAY 2

COIN #1 1COIN=1CREDI T
CONTINUE #1  1COIN=1CREDIT
FREE PLAY OFF

INITIALIZE

EXIT

CURSOR NEXT :BOMB

ENTER : TRIGGER
SNK © SNK CORPORATION 1998
D CREDIT DISPLAY' . iovvivin mimn vimes sinie sins 2 Use this cabinet set at “2.”
@ Coin settings and credit settings .......... From a maximum of 9 coins and 1 credit to 1 coin and 9 credits,

seltings are changed each time the trigger is pulled. Pull the trigger
until the desired setting is displayed.

. @ Coin settings and continue frequencies . . . .. From 1 coin and 1 credit to 1 coin and 9 credits, settings are
changed each time the trigger is pulled. Pull the trigger until the
desired setting is displayed.

EIFREEPLAY: .« cune sopestmmupmns witss. wese s 31 Turns free play on and off.
Each time the trigger is pulled, free play is turned on or off.
GUNITIRLIZE: o sanas s s oms ok s Returns settings to their initialized values.

Match the cursor to this item and pull the trigger to set each item
to their initial settings.

+ When free play is switched ON, credit settings become invalid.
« Match the cursor to “EXIT” and pull the trigger to return to the “SYSTEM OPTIONS" menu screen.

7.2 CALENDAR SETTING

CALENDER SETTING

98 /06 /01 (MON) 16 : 05

98 /06 /01 (MON) 16 : 05
A

SET
GANGEL

CURSOR NEXT  :BOMB
CHANGE -+ :TRIGGER
CHANGE - :START

SNIK © SNK CORPORATION 1998




[Function]
Resets calendar settings.

[Setting Procedures]

1. The upper display shows current setting values. Resetting lower display values resets the calendar readings.
2. Match the cursor to the item you want to change, such as date, day, time, etc., with the bomb switch.

3. Change the item to witch the cursor has been matched using the trigger or the Start switch.

4. With the cursor matched to “SET”, pull the trigger to change the “CANCEL” message to the “EXIT” message.
Match the cursor to “EXIT” and pull the trigger to return to the “SYSTEM OPTIONS" menu screen.

e With the cursor matched to "CANCEL," pull the trigger to return to the “SYSTEM OPTIONS" menu screen. At
this time, the calendar will not be reset.

7.3 DATA INITIALIZE

DATA INITIALIZE

— HI=SCORE INITIALIZE
COIN DATA INITIALIZE

INITIALIZE ALL
EXIT

CURSOR NEXT :BOMB

ENTER :TRIGGER

SNK © SNK CORPORATION 1998

@ HI-SCORE INITIALIZE .......ccvvvvvennn. Initializes high score data.
@ COIN DATAINITIALIZE ... ..ovivvnnnnnnn Initializes income data.
I NI AT IS T e e g e A Initializes the two item settings listed above.

[Operation Procedures]

1. Match the cursor to the item settings you wish to delete and when you pull the trigger, “YES” and “NQ” messages
will appear.

2. When you match the cursor to “YES" and pull the trigger, data is deleted and an “OK" message appears. Pull the
trigger again to return to the "DATA INITIALIZE” menu screen.

3. When you match the cursor to “NO” and pull the trigger, data is left as is and the “DATA INITIALIZE” menu screen
is called up.




Maintenance e

m Safety Precautions

f( o When performing maintenance on the cabinet, be sure to do so after the power R
is turned off. Doing so when the power is not turned off may result in electric
shock.

é « Absolutely do not try to copy or modify this cabinet. Doing so may cause fire

and electric shock.

« Do not use parts in this cabinet other than those specified by the SNK Corpora-
tion. Doing so may cause accidents and breakdowns.

« Make sure all connectors in the cabinet are connected tightly. Loose and partial
or incorrect connections may cause accidents such as fire and electric shock.

Danger

ticides to the cabinet. This may cause paint and stickers to peel and ruin the

ﬁ « Do not apply volatile liquid cleaners like benzene, alcohol, thinner, and insec-
luster of the cabinet’s finish.

Warning




(@ Changing Fluorescent Lights

turning off the cabinet and pulling out the plug.

* When replacing lamps and fluorescent lights, be sure to begin procedures after
& * Do not strongly jolt lamps and fluorescent lights. Doing so may cause personal

| Danger injury and accidents from breakage.
[\ '
i .
I
* Even when the power has been turned off, lamps, fluorescent lights and sur-
rounding areas may still be extremely hot. When working on the cabinet, make
sure such parts have cooled sufficiently. Failing to check these parts and work-
| Warning ing on the cabinet may result in accidents and burns.
» Use a step ladder for changing fluorescent lights. Failing to do so may cause
,k accidents and personal injury. ‘

iPrepare the items listed below before beginning procedures.
v Toors..............‘..............Phillips screwdriver

Lamp box

Ballast

20W fluorescent light

w4 x 30 small
. truss-head screw

Remove the M4 x 30 small truss-he
ach side.)

Raise the lamp box slightly and pull
gction.)

Replace the fluorescent light tube (20W) and ballast (FG1E) with new ones.
ftach the lamp box following the procedures above in reverse,

ad screws from the positions shown in the diagram. (There is one screw on

it out toward you. (The lamp box fits into the grooves on top of the monitor




m Removing the Gun Safety Housing

« Be sure to turn the cabinet off before beginning procedures.

Warning

Prepare the items listed below before beginning procedures.
o ACCESSOM ...vvovvruenn.onn. 2.5 mm hexagonal wrench

M4 x 20 button
bolts (4 bolts)

Right gun housing

M4 x 20 button
bolt (1 bolt)

M4 x 15 plate
bolts (2 bolts)

Left gun housing

Right pump housing

M4 x 20 button
bolts (2 bolts)

M4 x 15 plate
bolts (2 bolts)

M4 x 20 button
bolt (1 bolt) /

~ M4 segment
ST nut (2 nuts)
i " M4 x 10 bution
e 3‘\~ 9 ) L& bolt (1 bolt)
M4 x 15 plate bolts (2 bolts)
M4 segment

nut (1 nut)
Left pump housing

1. With the included hexagonal wrench, remove the two M4 x 15 plate bolts on the right and left side and remove the ‘
left and right pump housings.

2. With the included hexagonal wrench, remove the two M4 x 15 plate bolts, the M4 x 10 button bolts, and the five |
M4 % 20 button bolts. Then remove the three M4 segment nuts and remove the right gun housing.

» Be careful no to lose the M4 segment nuts.

3. With the included hexagonal wrench, remove the two M4 x 15 plate bolts, M4 x 10 button bolt, and the two M4 x
20 button bolts. Then remove the gun housing.

4. Follow the procedures above in reverse to attach the gun and pump housings.

W n —

-



m Changing llluminated Push Button Switch (Start
Y Switch) Lamps

/ o Be sure to turn the cabinet off before beginning procedures.
Warning

Prepare the items listed below bafore beginning procedures.
® ACCESSOMY ..ccoervnreneenenenns 2.5 mm hexagonal wrench

1. Remove the gun housing.
1 2. Pull out the main section of the Start switch.
1 3. Pull out the lamp as shown in the diagram below and replace with a new one.

B e —

4

_ff- |1:1J

° !

n . 0] 2 D

\. @) @) o Switch main section

?lz O | -

Lamp

/ Enlarged

3 w 5

D¥fedde bulb] section \/
® -

Pull out

43




E Changing Microswitches

+ Be sure to turn the cabinet off before beginning procedures. ‘
» When disconnecting connectors, be sure to pull the connector’s main section
Warning without pulling on the cord.

Prepare the items listed below before beginning procedures.
s ACCESSOrY ..................... 2.5 mm hexagonal wrench
e T0OIS.....cceeevvennnnnne...... Phillips screwdriver, soldering iron, radio wrench, vinyl (duct) tape

® Microswitch for Trigger

M4 x 10 small,
3-point pan screws
(2 screws)

connector
M2.3 x 10 small,

3-point pan screws
(2 screws)

M4 x 10 small '
3-point pan screws (2 screws)

From the illuminated Black
button switch computer

2 Soldered
From the main gun harmess 19 (2 locations)

. Remove the gun housing.

. Remove the 2-pin connector shown in the diagram.

. Removing the four M4 x 10 small, 3-point pan screws, as shown in the diagram, makes it possible to take the
trigger section apart.

. Removing the two M2.3 x 10 small, 3-point pan screws as shown in the diagram and remove the microswitch.

. Remove the 2-pin hamess from the microswitch and solder on a new microswitch.
Insulate the terminal with vinyl (duct) tape.

. After replacing the microswitch with a new one, assemble the parts following the above procedures in reverse,
When assembling the parts, be careful not to pinch wires between parts.

WMN =

LIRS

L o ]




® Changing Microswitches for the Pump and Bomb Switches

r Screw ring

M3 flange
|| nut
| Push in
the pins

to remove.

1. Remove the gun housing.

2. When changing the microswitch for the pump, remove the two M3 x 10 plate screws and the two M3 flange nuts
shown in the diagram and replace with a new one.

3. When changing the bomb switch, remove the screw ring shown in the diagram and replace with a new one.

m Removing and Attaching the Gun Stand Cover

& » Be sure to turn the cabinet off before beginning procedures.
! ? Warning

Prepare the items listed below before beginning procedures.
¢ TOOIS eooorviviseereesenseernn. Phillips screwdriver (with a total length of 150 mm or less)
Remove the four small truss-head screws in the front and back of the gun stand cover to enable the removal of the

8
g left and right covers.

M4 x 10 small

Gun stand truss-head screws (2 screws)

g

Mé x 10 small truss-head
screws (2 screws)

M4 x 10 small lruss-head
/ screws (2 screws)

Gun stand

M4 x 10 small truss-head (
sorews (2 screws) 77‘3/ L e

45




m Changing Volume Modules

@ Changing volume knobs for the upper and lower sensors

e Be sure to turn the cabinet off before beginning procedures.
« When disconnecting connectors, be sure to pull the connector’'s main section
Warning without pulling on the cord.

Prepare the items listed below before beginning procedures.
o TOOIS...coicisirevirenennen, Phillips screwdriver (with a total length of 150 mm or less), subtensil 12mm spanner,

soldering iron, vinyl (duct) tape

The volume module for the upper and lower sensor is on the right side of the gun unit assembly.
When it becomes old, the crosshairs will not synchronize vertically and will need to be replaced.

h 1. Remove the gun stand.
3-pin

3-pin
connector

connector ;
2. Remove the 3-pin connector.

3. Remove the M3 x 5 small pan-head screws and the
volume bracket.

4. Remove the nut and ridged washer, then remove the
volume module from the volume socket.

5.Remove the 3-pin harness from the old volume
module and solder on a new one.

¢ Be careful of wire colors.

+ |nsulate the terminals with vinyl (duct) tape.

M3 x 5 small
pan-head screw e

1 (2 screws) Volume bracket 6. Attach the new volume module into the volume
bracket.
e Be careful of the orientation of the volume when
installing it.
Vol taocle « Do not fasten the nut too tightly.

3-pin harness
Volume bracket fixture /- Attach the volume bracket to the gun unit assembly

and connect the 3-pin connector.

8. Attach the gun stand covers.

Warning: Do not fastan the nut ioa Tightly 7 Wamings ot Instalng Yolume oduls
. {Doing 50 may aftect the perormance ol e
tha volume module ) b

Warning: With the vertical
o sensor volume module, use the
holes shown in the diagram to

& position the wvolume bracket
fixture and volume module.

Positons or Sokderng Volume Module
‘Warning: Use vinyl {duct)
1apa hare.

o)

i o] (Attach the volume module at a
, "| slightly diagonal position as
=& shown in the left diagram.)
(=]
o

Warning: Soider the colorad
wires as shown, Usa thase holes

e position tha module.




® Changing Volume Modules for the Horizontal Sensor

¢ Be sure to turn the cabinet off before beginning procedures.
e When disconnecting connectors, be sure to pull the connector’s main section

without pulling on the cord.
Warning [ e Because this unit is quite heavy at 10kg, be very careful when doing procedures.

Prepare the items listed below before beginning procedures.

* ACCESSOMEeS...cccceeriinnn, Master keys
s o] | e P Phillips screwdriver (with a total length of 150 mm or less), subtensil 12mm spanner,

soldering iron, vinyl (duct) tape

The volume module for the left and right sensors is located in the lower section of the gun unit assembly.
When it becomes old, the crosshairs will not synchronize vertically and will need to be replaced.

1. Remove the gun stand cover.

M5 x 35 small pan-head, /’T
3-point screws (8 screws) .~

2. Open the service door and look inside. In the forward
| upper section there are two &-pin and 12-pin
| connectors each. If the gun being worked on is the
Player 1 gun, remove the white 6-pin and 12-pin
connectors. If it's the Player 2 gun, remave the red
6-pin and 12-pin connectors.

3. Remove the ejght M5 x 35 small pan-head screws
and remove the gun unit assembly from the control
section.

Open the service door.
Remove from within.

4. Following the same procedures for the volume

: A module for the up and down sensors, remove the
If i ¥ volume bracket from the gun unit assembly and the
AJ \ o volume module from the volume bracket.
S u

M3 1.5 small pan-head screw (2 screws) /‘B

3-pin
Volume /KML Warning: Do not fasten the nut
bracket i / N too tightly (Doing so
i ut may affect the
! performance of the
; volume module.)
; ‘ 3-pin Ridged waser
i i connector Volume bracket fixture

Volume
w




Positions for Soldering Volume Module

Warning: Use conlraction tube here

Volume
module
Top section

Warning: Solder the colored wires as shown.

A
Black Brown Red
[ ]
Wamings for Instaling Volume Modules
o With the volume maodule for i
the left and right sensors,
= diagram to position the

volume bracket fixture and
volume module. (Attach the

'OO ] position as shown in the left
- AJSE R
-1\ diagram.}

Use these holes
to position volume
module.

® Adjusting Volume

5.

Remove the 3-pin harness from the old volume
module and solder on a new one.

Be careful of wire colors.

Insulate the terminals with vinyl (duct) tape.

B. Attach the new volume module into the volume

bracket.

Be careful of the orientation of the volume when
installing it.

Do not fasten the nut too tightly.

use the holes shown in the 7. Attach the volume bracket to the gun unit assembly

and connect the 3-pin connector.

velume module in a vertical 8. Follow the procedures for removing the gun assembly

in reverse order to attach it to the control section and
attach the gun stand cover.

1. Turn on the cabinet and begin the “Analog Standard Values” test in the Test Mode (See p. 34)
2. With the “Input Test” in the Test Mode, check to see values are normal. (See p. 33.)

B Changing Fuses

Warning

+ Be sure to turn the cabinet off before beginning procedures.
¢ Absolutely do not use fuses other than those specified herein.

Prepare the items listed below betore beginning procedures.
o TOO s nnisnaies Phillips screwdriver

1. Open the fuse holder located in the rear power unit section.

2. Replace the old fuse with a new 6 A (ampere) anti-surge type fuse.

I

e ™\

Fuse holder K __GA

Co
/ @ o o ©




Disposal

Warning

* When disposing of this cabinet, make sure you do so according to the laws of
your area concerning collection, shipping, and disposal.

« When disposing of this cabinet through the agency of another, be sure to do
this through an agency qualified in the collection, shipping, and disposal of
products of this kind.




Parts List

@ Monitor Section

- B
Rear power

box unit

L

' v

Rear diagram




No. Part name Part code Qty. Comments
1 | Monitor cabinet 590301693 1
2 | Lamp box 570300693 1
3 | Electric decoration panel 570310693 1
4 | Fluorescent light tube, 20W 301204 1
5 | Ballast 302301 1
6 | Fluorescent light holder, 20W | 342201 1
7 | Monitor cover 570321693 1
8 | 29-inch CRT monitor 3122903 1
9 | Rear door 590311693 1
10 | Adjusters 471734 4
11 | Free casters 46242065 4
12 | Fuse 3036 1 BA, anti-surge type
13 | Fuse holder 352130 1
14 | Power switch 332208 1
15 | Power harness 370300693 1
16 | Ground terminal 353381 1




@ Control section

Service door interior




No. Part name Part code Qty. Comments
1 | Control section cabinet 590101693 1
2 | Side door 590111683 1
3 | Playing card panel 570100693 1
4 | Speakers 444062 2
5 | Speaker covers 510110693 2
: Cash box, coin counter, selector

6 | Service door 41722010 1 ielided
7 | Gun stand covers 573090693 4
8 NEO 64 "Beast Busters 2" 1

software cartridge

9 | Hyper NEQ GEO 64 PCB 1
10 | Switching regulator (12V) 199302 1
11 | Switching regulator (5V) 199301 1
12 | Transformer (9.5V) 32295693 1
13 | Audio power amp PCB 1
14 | Digital output expansion PCB 1
15 | Adjusters 471734 2
16 | Fixed caster 46142065 1
. 17 | Free casters 46242065 4
[ 18 | Degaussing switch 3311214 1
| 19 | Speaker volume knobs 30724502 2
[ 20 | Service/Test switches 3314122 3
. 21 | Power switch 332208 1




® Gun Assembly

Bottom section

No. Part name Part code Qty. Comments

1 | Left gun housing 583011693 1

2 | Right gun housing 583020693 1

3 | Left pump housing 583040693 1

4 | Right pump housing 583050693 1
. 5 | Trigger 583030693 1

llluminated push-button, thick

6 type (red) 33614121 1

7 | Speaker 4481024 1

8 | Trigger microswitch 334521 1

g | Pump microswitch 33455113 1
10 | Bomb switch 33124122 1
11 | Volume module 3072020 2




~ _anl} L IRTEE
S E11 T T U]
- s | r.mn___r a5 4nod
= Samlipilh—e _ 2
w7 =4S¥A-A2181dYN] 25202 o
; me 4 ”“ _. RS emog
0N BT ave
e Hisn-fedin TN |
(b ol HG Y10 it Foons oo
< O TETH T tvsed T st TVEED
— N
 IYINOZIN0H WD d| : (TR ¥ 1)
(= [ L0d i h 41 v
| YaIlyaA km dl “
& L300 v HE 41 !
=y
HOLIH0H B di g
— 04 35Y8 znmuﬂ_ &
. I ITENT R O i i il
o B T T e T e IEt0 [T v 1vE€0 Muawvass
= | IVINOLIH0N WA df - W4
[ 1304 35Y2 ND 48 avito FH v it GihHIE
Ll LBEEELH (FEWEIVERH |
O 3 [}
s i By tah
ok g mE gL
_ o 0
= m w_ﬁﬁ _ o T
A [uTa) YYO0 T} IR
= Cisa H-HH e ssvo3g
avrio FRIAERTN arrio
O %ﬁg m ._|1 yizid [FTTNT B
%) 52 2 e
¥5 & = s
sgo ¢ » 2100 FIT]
w -2 B e { i
ES 90000 b ) LTI [ T T & 7T I— won) 110
Q 0 - O LD DO D @
o= 22 3 EEELELS Bx2x%s6 Y600 |l SYs00 sveo (oLt Svian
=@ Eg===885 " s2cagd
—.—.-— mlv.m W,mTBQWHRWn L0 @o<a
fo— LB LEOTES¥NE STHUEL
2. 3y 2§ 2 = o
= ES ~0888885 ¢ 83 i
2, EBEEceces Fo5ki. — e e _
(am] )ﬁWe..w%_123455mw.anOWmnln mmmW HMRUH.“
mmmmmm;acn&ﬁmmrw&we& g 980 :E%. ! [wine WVFD " VT80
2 e a0 oy ;
— Qe S e Y400 [ SY900 sveoo | * _i TVI00 " V100 b
S Vv o o ¥3L714 3SI0N {re)asnd [CRELY]
3dAL 91 3miL §S §3K04




IR

F ]

oM

2N

W

[
lnw_‘ 01A
=N0d) ARD-K

2

(RO THE

AS 300141 BMO

§ dR0d NOD

§ BAOA N

=i

S LHY1S NOD

Chsg. “mmmmme

b
=

_OY
| S Y2014

§ dM0d N

e

L BNOH NOD

=

A 1¥YIS WO 43

[H]
[R5 390101 Wi

| 0§ dn0d

N(}
LT

]

2= ]

QND

[i[F]

Lm._r oy ran B
MEH _¥y150 | | YY LS
1] | 1Y950 | | 1Y35
1] AVS50 NY§50
10
|_&. 1
)
et
I
Y020
93000
4VEs0
T H-H
WISO e .mmu_m_ji
Lr ;
3
s it puri1)
FﬂH I Ivese
_Eﬁm“” I
it I avero
7l ¥Wis0
27150 |
1viro Vir0

AS+2Q)

(8- Eun_w Arg-y

| W3INNOD NIDDT

-

350 _100

330 10N

=

350 10N

L

(1/2)

=EER

L

I

L“m____ﬂ@

90000

dyord E 7

FTLT ..._.ml.[

XJEL0

(¥211¥38)
3M170A

(IYINOT thos)
EL

¥010m 3q

LLiaWtisiy

LEELE S 1]

RS ¥37010L
NS Jm0d
RS BR9

A5 18Y1S

(va11938)
04

(I¥IMOZ 1¥OH)
M08

yoLon X

dAYY 1EYIS

LERVES IR 1]

RS ¥30010L

mC JdRAJ




BUSTERS SECOND NIGHTMARE WIRING DIAGRAM (2/2)

>
jit numbers represent location
bers. "000" represents the ground
3.
fourth digit symbol represents _
gence frequencies. e
. {time G 7times 4 LXIVLP! oo9ps “—%ﬁ%ﬁ-ﬂ1i VLF] yosms ) 1oy L sv oioa o1oag [TRIVEE
. 2fimes  H: Btimes —amte | LS ﬂ—Li 5““? !
: 3 times I: 9times y €
:4times  J: 10 times
: 5times ~ K:11 times .
. izines i 0080 00308 | AC100Y T ___%]l_"“ =
fifth digit symbol represents wire (R I 1 T frr JE]
| git sym p T :-~¥
Brown V: Pumle atiabk ootk | 41007 | o ey Lotaar (013
: Red H: Grey 1 w 014eR
: Orange St White o00CE s &
Yellow K: Black 80016 S o
: Green M: Aqua 909ES 009ES | ACIOOY | "EE;: say [YERIVCP
Blue P: Peach L) T [C015E
Hal
015AY LK
003EK nogex f ctooy Dm"‘a]Tm—’ B
[
.
YLR[Y
L 0
3\ 4 ‘
~ F‘ l
4
H LB
[FOREESUPPLY AESY] R
=
2
i J
| ®
e
-0 )
1
- et L et SR E E% === o 2B JGEE SQE =EE
o ksl S = = | o i o =] e
E=rpEel  SEREE S = : s Er 565 *;%*-%
= = = = 3 =
- z = - - Zaii)
= = = E = ’
ssReee  gmme2 EE 22EE | [
" = = l

000863000“3( }]
| @ =] | o] ] ol e
2 %528 g e ]
o o o o o9 o o o
1an|
T = = - - @ ~
e n
S B 5 5 5 = s S a
I ¥ g 3 #z 8z 2.0 8 oo
= g BE 8 = == == == =3 = == ==
= = & g ¥ &5 3 8 &8 8 8 .8




VLK

034AK

093AT

03ZAR

031AG

AL

| 010AR 010AD
01240
A {OTTAK
|_o14ax YLR VLPM'MR
WILES TaBR T
b_ﬂ@: 1K
[018AT 1 01
o7 o150y
m f—s
NI 10
gy YLRIYLP SRY
TTEEY | {O15E
TTEFY ] FoTErY |
ITIEX | T
[IH | K|
(o K_J
oy FLR 5
I [l o156
o]
Fi [ IF
I 3K _)
RE |

T
ot Pt it et

010AD

011AK

DIGITAL DRIVER PCB

EFFFFFFFH EFFFFFFER BFF

DITAR
S

=

3

R

078A3

SEEESEEE

B i

OB TAT

054AY

06 5AL

066AB

CON.

4 TAH
4

LE1Y

(11
o}
>

015FY

Lot

YAPED

Mmu POWER AMP PCB







$-9808

The Future Is Now

SNK CORPORATION 1-6 ENOKI-CHO, SUITA-SHI, OSAKA, 564-0053, JAPAN TELEPHONE: (81) 6-339-5577 FAX: (81) 6-338-7175

SNK CORPORATION OF AMERICA 17 GREAD OAKS BLVD, SAN JOSE, CA 95119, U.S.A, TELEPHONE: (1) 408-292-4550 FAX: (1) 408-202-4271

SNK ASIA LIMITED SUITE 807, TOWER 1. THE GATEWAY, 25 CANTON ROAD, TSIM SHA TSUI, KOWLOON, HONG KONG TELEPHONE: (852) 2-730-0420 FAX; (852) 2-375-3203
SNK SINGAPORE PTE LTD. 7 TEMASEK BOULEVARD #12-02A SUNTEC CITY TOWER ONE SINGAPORE 038987 TELEPHONE: (65) 336-7877 FAX: (65) 336-2270

SNK EUROPE LIMITED 2ND FLOOR, MARLBORQUGH HOUSE, 298 REGENTS PARK ROAD, LONDON N3 S2Z ENGLAND TELEPHONE: (44) 181-371-9911 FAX: (44) 181-371-8890
NEO GEO DO BRASIL LTDA. Av. EUCLIDES, 56-JABAQUARA CEP; 04326-080-SA0 PAULO-SP BRAZIL TELEPHONE: (55) 11-5588-2300 FAX: (55) 11:6688-2790

SNK CORPORATION MIDDLE EAST P.O.BCX 17306 JEBEL ALI FREE ZONE, DUBAI, UNITED ARAB EMIRATES TELEPHONE: (971) 4814602 FAX: (971) 4-814805

Printed in Japan




	Beast Busters 2nd Nightm01
	Beast Busters 2nd Nightm02
	Beast Busters 2nd Nightm03
	Beast Busters 2nd Nightm04
	Beast Busters 2nd Nightm05
	Beast Busters 2nd Nightm06
	Beast Busters 2nd Nightm07
	Beast Busters 2nd Nightm08
	Beast Busters 2nd Nightm09
	Beast Busters 2nd Nightm10
	Beast Busters 2nd Nightm11
	Beast Busters 2nd Nightm12
	Beast Busters 2nd Nightm13
	Beast Busters 2nd Nightm14
	Beast Busters 2nd Nightm15
	Beast Busters 2nd Nightm16
	Beast Busters 2nd Nightm17
	Beast Busters 2nd Nightm18
	Beast Busters 2nd Nightm19
	Beast Busters 2nd Nightm20
	Beast Busters 2nd Nightm21
	Beast Busters 2nd Nightm22
	Beast Busters 2nd Nightm23
	Beast Busters 2nd Nightm24
	Beast Busters 2nd Nightm25
	Beast Busters 2nd Nightm26
	Beast Busters 2nd Nightm27
	Beast Busters 2nd Nightm28
	Beast Busters 2nd Nightm29
	Beast Busters 2nd Nightm30
	Beast Busters 2nd Nightm31
	Beast Busters 2nd Nightm32
	Beast Busters 2nd Nightm33
	Beast Busters 2nd Nightm34
	Beast Busters 2nd Nightm35
	Beast Busters 2nd Nightm36
	Beast Busters 2nd Nightm37
	Beast Busters 2nd Nightm38
	Beast Busters 2nd Nightm39
	Beast Busters 2nd Nightm40
	Beast Busters 2nd Nightm41
	Beast Busters 2nd Nightm42
	Beast Busters 2nd Nightm43
	Beast Busters 2nd Nightm44
	Beast Busters 2nd Nightm45
	Beast Busters 2nd Nightm46
	Beast Busters 2nd Nightm47
	Beast Busters 2nd Nightm48
	Beast Busters 2nd Nightm49
	Beast Busters 2nd Nightm50
	Beast Busters 2nd Nightm51
	Beast Busters 2nd Nightm52
	Beast Busters 2nd Nightm53
	Beast Busters 2nd Nightm54
	Beast Busters 2nd Nightm55
	Beast Busters 2nd Nightm56
	Beast Busters 2nd Nightm57
	Beast Busters 2nd Nightm58
	Beast Busters 2nd Nightm59
	Beast Busters 2nd Nightm60
	Beast Busters 2nd Nightm61
	Beast Busters 2nd Nightm62



